PERCENTAGE
T AT /...




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If X is less than y by 25% then y exceed x by :
I x A y & AH F 25% FH & al y 1 A X
& AF ° e 8 —

1 2
(1) 335% (2) 25% (3) 75% (4) 665%
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The income of C is 20% more than B’s and the in-
come of B is 25% more than A's. Find by how much
per cent is C’'s income more than A's ?

C &l 3T Bl 3T § 20% 31 & 3 B & 9

AHI 3T ° 25% 37k 2 | C Pl 3™, A HlI 39 §
oo ufaera s1faes 2 2
(1) 150%  (2) 50% 3) 25%  (4) 35%
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A person who spends 665% of his income is able to

save ¥ 1,200 per month. His monthly expenses (in )
IS :

Uah Afed S YAl 3T &l 66%% T I § 98 Wid

oG 1,200 To 9T & | STHT =49 3fg 919 (Fo W) B—
(1) 1,200  (2) 2,400  (3) 3,000 (4) 3,200
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A man gives 50% of his money to his son and 30% to
his daughter. 80% of the rest is donated to a trust. If

he is left with Rs. 16,000 now, how much money did
he have in the beginning?

Ueh Ao 39 1 T 50% 9T 3794 I i 3R 30% W
AU T AT <A1 BT AT HT 80% W fHE T A
< fear s 21 1@ afe 3§ =afed % 99 16,000 9T €9
g, 9 9% U URY H F G eft?

(1) Rs. 40,000 (2) Rs. 8,00,000

(3) Rs. 80,000 (4) Rs. 4,00,000
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Given that 10% of A's income = 15% of B’'s income =
20% of C's income. If sum of their income is ¥ 7800,
then B's income is:

feqr 2 foF A &1 39 &1 10% = B &1 3T &1 15% = C
H1 3T T 20% B IS STah! 3 HT HA I 7800 .

g, 9 B Sl 3 =i—
(1)T 3600 (2)T 3000 (3)T2400 (4)F 1800
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Price of milk has increased by 20%. To keep the ex-
penditure unchanged, the present consumption is to
be reduced by :

Y HI HIET 20% 9 T &1 I hl 31 & WH & fau
JqHE SUNMMT | foma=l wHT T B8O ?

2
(1) 20% (2) 18% 3) 10%  (4) 165%
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If the duty on an article is reduced by 40% of its
present rate, by how much per cent must its con-
sumption increase in order that the revenue remains

unaltered ?
Ifs frdl o] W TR Yo i L Iaq9H § 40% FHH

L G WG, q@ 39 9% i @yq ° fea qfawm &t 9fs

FET B difeh 399 B 9ol AT 39fdiqd | 7

1 2
(1) 60% () 625% (3) 72%  (4) 66 %
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Arbind spends 75% of his income and saves the rest.

His income is increasesd by 20% and he increases
his expenditure by 10%. Then the increase in sav-
INgs In percentage is

RS AT 3T 1 75% ©E Hdl & 3R I &= oidl
g1 STHT 3T | 20% JfG & 9H W, 98 319+ TE J 10%
#1 Jfg L < &1 TEITER, SUH! s=d | feha faem gfs
gl STwi?

(1) 55% (2) 52% (3) 50%  (4) 48%
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Water tax is increased by 20% but its consumption is
decreased by 20%. Then the increase or decrease in
the expenditure of the money is

ST R H 20% 1 gfg g3 b SHh! @I 20% FH T
gl % 'd H gfg @ wH fRa 58?2

(1) 5% decrease / HI

(2) 4% decrease / HHI

(3) No change / s qRad- &l

(4) 4% increase / Al
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If the numerator of a fraction is increased by 20%
and the denominator is decreased by 5%, the value

5

of the new fraction becomes 9 - The original fraction is

afs fet firr & 291 & 20% #t 9 IR ST & H 5%

FI HH W I TE, @ T 99 F AM gﬁw%\’l

yRfts o= @
24 S 95 438
(1) 19 (2) 18 (3) 483 (4) o5
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The numerator of a fraction is increased by 20% and
denominator is decreased by 20%. The value of the

fraction becomes 5 The original fraction is

th f99 & W § 20% gfg = T ® I SHH W A

. 4
20% HHT HT & T BI 37 Fa= w1 °E = 2 S 2

ITER, gt fa= =1 7 2

8 7 4
(2) 15 (3) 11 (4) 5
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The cost of an article worth I 100 is increased by

10% first and again increased by 10%. The total in-
crease in rupees is

Z 100 ! Teh 9] i HIHd Tt 10% el & SRl €, T
10% 3R 91 & Sl Bl 999K %l ghg fha w94 =i
RS,

(1) 20 (2) 21 (3) 110 (4) 121
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The ratio of the number of boys to that of girls in a
schoolis 4 : 1. If 75% of boys and 70% of the girls are
scholarship-holders, then the percentage of students
who do not get scholarship is

fFet Tpet o gl H1 HEA IR SR HT & H
AU 4 : 1 ® | A ASeh| o 75% bl q iR o 70%
%! DG Herdt €, a1 37 faenfeiai o1 ufawm, 5= =gt
T faert 2, =1 2

(1) 50% (2) 28% (3) 75% (4) 26%
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The ratio of the number of boys to that of girls in a
village is 3 : 2. If 30% of boys and 70% of girls ap-
peared in an examination, the ratio of the number of
villagers, appreared in the examination to that not
appeared in the same examination is

T T | oSl IR ASihal 1 & HT UM 3 : 2
21 IfE 30% eissh 3 70% cisfhal fordt Tden § &S i
SHT ghten | deq ot 3R T S el MedTEal i e
1 A F B ?

M9:14 (223:27 (3)1:1 (4 27:23
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A number is first decreased by 20%. The decreased
number is then increased by 20%. The resulting num-

ber is less than the original nhumber by 20. Then the
original number is

Tsh T U8 20% HH i Sl 21 fF 39 &9 &1 g2
T | 20% gfg # St @1 I g o 9en 9
20 %Y ¥, A Tl & B

(1) 200 (2) 400 (3) 500 (4) 600




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

When 75% of a number is added to 75, the result
Is the same number. Find the number :

afs fedt 9= & 75% H 75 SIS dal W&l U

& SN a1 98 9= [ ity
(1) 225 (2) 270 (3) 300  (4) 325
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Two numbers are respectively 25% and 20% less
than a third number. What per cent is the first num-

ber of the second 7

3 gea fedl a9l g@ 9 FH9: 25% 3R 20%

FY9 2| Yeil e 9 w&A1 1 foha gfaqerd 2?7
(1) 5% (2) 75% (3) 80%  (4) 93.75%
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Two numbers are less than a third number by 30%
and 37% respectively. The per cent by which the sec-
ond number is less than the first is

I FEAN, e WA ¥ HEW: 30% 3R 37% HH &1 T
g&T Yeott 9= 9 foad ufasa &9 © 2
(1) 10% 2) 7% (3) 4% (4) 3%
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The difference between the value of the number in-
creased by 20% and the value of the number de-

creased by 25% is 36. Find the number.
forelt T & 20% aftfd TH IR T&N & 25% Biad o

T 3 36 21 98 T&Al A BT
(1) 7.2 (2) 0.8 (3) 720 (4) 80
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The price of sugar is reduced by 20%. Now a person

can buy 500g more sugar for ¥ 36. The original price
of the sugar per kilogram was

<t b 99 H 20% HI FHH Bl T B 79 Tk AT 36
%. 4 500 U 31fyer =M ©RIE Fehdl g1 =T k1 gfd

fohaum™ URIYeR 919 oO1—
(1) T 14.40 (2) T 18
3) ¥ 15.60 (4) T 16.50
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A reduction of 25% in the price of rice enables a per-

son to buy 10 kg more rice for ¥ 600. The reduced
per kg price of rice is

A6 & HA H 25% i HH B W A5 Al T 600
T 10 fremm ifaer  =od @i Ghar 81 9Ed &1 ufd
fhei 12T 83T Jod ©

(1) T 30 2025 (3T 20 4 T 15
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A candidate who gets 20% marks in an examination
fails by 30 marks but another candidate who gets
32% gets 42 marks more than the passing marks.
Then the percentage of pass marks is:

T g fedt odean 5 20% 3id 9w ek 30 i
T T B WM ® W T YARN 32% A% U
Flch 99 &M o Al 9 42 3k 3If¥e g
2 | 99 99 M o T Rl 1 gfaerd g—

(1) 52% (2) 50% (3) 33% (4) 25%
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In an examination in which full marks were 500, A
got 10% less than B. B got 25% more than C. C got
20% less than D. If A got 360 marks, what percent-
age of full marks was obtained by D ?

T uden |, TS| quiieh 500 o, A &1 B &I 3TU&ET 10%
FH 3 fHcil 3HT H B &l C &l T9& 25% ATHH ik
fiet 3R C &1 D 1 3798 20% %4 3% el @R A%
A %I 360 31 fHel @i, I D %l quish & fhd afaer sisw

I gU o7
(1) 90% (2) 80% (3) 50%  (4) 60%
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A candidate who gest 20% marks in an examination,
fails by 30 marks. But if he gets 32% marks, he gets
42 marks more than the minimum pass marks. Find
the pass percentage of marks.

s qhenef i fEd Then § 20% 3% U g SR 98
30 3l § %l Bl T, Toheg IS 98 32% 31k UId ol
dl 39 =AdH 30k H 42 i Ak 9 BId| STkl
i g9 i

(1) 52% (2) 20% (3) 25% (4) 12%
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A man spends 75% of his income. His income is in-

creased by 20% and he increased his expenditure by
10%. His savings are increased by

U Ffad 3T 3 FT 75% @d Hl 21 IHHR! 3

20% 9 Sl & 3R o8 3191 @9 10% &1 ofdl &1 SHeh!
soq fhaql sl ?

1

(1) 375% (2) 50% (3) 25%  (4) 10%
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The monthly salaries of A and B together amount to
R 40,000. A spends 85% of his salary and B, 95% of
his salary. If now their savings are the same, then
the salary (in Rs.) of A is

A 3R B &1 Hifes a9 faaeht ¥ 40,000 81 A 3799 3d4
F1 85% @ Hldl & X B 3T dd 1 95% @< ]
21 379 AfE 3! 99d se} &, a1 A %l a9 (¥9T H)
fepar 272

(1) ¥ 10,000 (2) ¥ 12,000

(3) ¥ 16,000 (4) ¥ 18,000
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The population of a village decreases at the rate of

20% per annum. If its population 2 years ago was
10,000, the present population is

T T FI 3TERT 20% Ufdey $1 X ¥ =2 @ 2l Afe 2

a9 Jd ITh! @RI 10,000 off df M TRl &
(1) 4600  (2) 6400  (3) 7600  (4) 6000
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Two numbers are respectively 20% and 50% of a
third number. What per cent is the first humber of
the second?

3 TR TRt dEd §@&A F 20% 3R 50% 21l ggel

& S "9&AT k1 o gfderd 2|
(1) 10% (2) 20% (3) 30%  (4) 40%
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1 litre of water is added to 5 litres of alcohol-water
solution containing 40% alcohol strength. The
strength of alcohol in the new solution will be

40% 3Tchigd ohi I ol 5 el 3Achlgcd-9Ht b
faerem § 1 ofter gt faemr smar 21 9 faom o
3ehigc] ohi ITfeR BITI—

2 1
(1) 30% (2) 33% (3) 335 % (4) 335 %
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